- 1o AT BAR . |- 20040 B AR

(
P §01=0 § ) is continuoy at o .

13
P %‘7‘)5 Constant,
Suppose. thak, § s periodic. functiom St.
$o4+T)= fud) , VAR for sme T >0
f I, e C eass
Then J}M)
St#4nT) Pnes/

lom o featnT)

= Mt =L VAR

\

=g
9.
11
b (). @ aem
§0) = £10)+ 419) > J1o)=0 .
A
A2, fA: 512 1) = & = 2
@ 7cz.
AN
I A<0, then §U)+§-7) = o) 2 F4)= f0)- %) = fi)- a-(-7) = A
OEERA:

) %tm 9018 2 )= ) = h Pk s X



(1) Sme Q is dense i R, VAR, 30 C R st. %374, then
L)z Jm o= oA,

19 g Define Gz aon|, 4€ [-z4n, 3tn[ (neZ), You only tv Check. that
£ s omtinuowg at 7= $4n, Ynez.

9.2,
PJ—; % “ImA

4.1
P Siace b di = b f= t00, IM>0 st

> L) > int fiA) . VxR
Te[-MiM]

S8 RN e T

A CIR Xe - M) MJ

Whioh Can be wchived, ot Some pornt Aot r-m,mJ .

9.
P Since §.9 is entimons , Y A, M€, T tutaelon] st
Le(ﬂ:): &t‘)‘[’?{]ﬂttl)
W)= S0 +4,8\0)
?Mt] - ~“6(7{2.) = S’ltl)f AW, - fl‘cl-) ”XLiLl’;‘L)
= L)+ ]m) - Ho) - A5) + X §b) - %91y )
= Jitot h i) - 4 | )+7hjrr)> £ (-t
2 -1 8¢k u))



o 4

LPMI] %m —Xf{bl + A jin) - Ho) - 7 (1)
= sugjfcm A 9k) - (ﬁtp)*mgm)) +1-1) Jit2)
> - W )7(1:)[ 711-712,1

0]
> )Wm)'fem)} < ?‘g’j [2- 22| 5 VoA eR
913
PY- b()sme ‘S'— { ° G
\ ronJ\ &
T

b jﬁ is Unijonn\y aenbinuows =) Tor ¢ =| , 3620 3t V[2-%|< &, we have lj!m)'fm)/ <.
V7320, 3 ReN St Fe[Rs, bt)§], then
IOLM) 'jfio)l
k-l

£ i) - Jee| + | Z, 50kes) ‘%"‘H I

é H’l&/: }21‘] = }ZH k&’ = kg 7’ A ’2’
In & simiar way, V#<o, | i) - fo) £ ‘?:
e Jpim| < )|+ Z 2



